Oct 13, 2022 Math 251: Quiz 6

Name: j.olm:h&ﬁ /25

There are 25 points possible on this quiz. No aids (book, calculator, etc.) are permitted. Show all
work for full credit.

1. [2 points] Fmd — = —C ( 6 O»(Qb) 3 ( l’)(\z\> [fL Cx

> 5
2. [3 points] Use logarithmic differentiation to find the derivative of y = (Slz ( —;i 1) ®
@ c 4ok : ln "
)( 2, _ 5 ‘ C v I of looth Sides
_ = nCx+t) = h(Sn(d +

@ Take darivat e

5 (oS lm—Pl fd-\”/é .
%{ 1—4' ] swlx)-+)

®
d _ | > <
% = \lj (5 (’Z?% ) gﬁ;ﬂ-’b} B 5 Sl < 2F) S')n(s/')"
(3) Sslve £or 5’:2 + reSubstiHut
by,

3. [5 points] The graph of the equation x> + y? = 3xy is drawn below. Write an equation of the line
tangent to the curve at the point (2,2) and sketch the tangent line on the graph.
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4. [15 points] Find a’_y for each expression below.
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